TEAM NAME:

MIND TWISTER SHEET (Answer questions A to J)

A: A clerk at a butcher shop stands five
feet ten inches tall and wears size 13
sneakers. What does he weigh?
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B: Arnold Schwarzenegger has a long one, Michael J. Fox has a short one, Madonna does
not use hers, Bill Clinton always uses his, The Pope never uses his. What is it?

C: A man dressed in all black is walking | D: What do you drop when you need it, and | E: What kind of room has no windows or
down the middle of a country lane. take back when you don’t need it? doors?
Suddenly a large black car with no
headlights on comes around to corner
and screeches to a halt. How did the car
know he was there?
F: What is this phrase? G: What is this phrase?
STANDS 6 3.14159
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[ L HICH ONEWILL FILLUP IRST I: An electric train is moving north at J: If lightning strikes an orchestra, who is
414 100km/h and the wind is blowing west at more likely to get struck?
e 10km/h. Which way does the smoke blow? @
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